1)

2)

(1) 14

@

@)

15

13

1/10

70



5 21 28 6 9psu 0.5 psu
1 psu 500L 12

10 30
0.7 0.8mg/l
1501 2 4 20 30
19.7 psu 8.7 mgl/l
3
1
6 7
4m 2m  6m
2m 5m 5
2
4 8
3001
4) 8
3.
@
250
200
8 150
2
100
7 50
0
3 H8 H9 H10 H11 H12 H13 H14 H15
2
1 10 20

71



7 10 1

4

H16

H15

H14

)

Ak

o S 13 IO
]
b

dlh
Tk
1Th

ooooooooooo
o m

D)
o o
N o
N
=L

3 60 90 120 1 1 210 2 27

oooooooooooooooooooooo
11111

oooooooooooooooooooooooooooooooo
11111111111111111111

120 150 180 210 240 270

30 60 90

120 150 180 210 240 270

30 60 90

mm

13 16

11

72



1psu

73



9
30
3
3
2m
6m 2
2m
2
2

10

10 30

Y
S

DO 0.7 _0.8mg/I

. o~

1/

m 1 ngr1y

6/9

100

/8

10

10
100

5m

w

74

6m

10




2
4 5 6 7 8
2 3 1 2 1 1
23 24 § 10 7 8 7 8
14.0 22.0 24.2 26.9
21.4 24.8 26.1 28.6
4) 8
- 1 100
11 12
1 50
1/10 1/40
1/20

S$54

11

57 60

75

63 H3

15




13

54

14

- H9
6 H11
—-—H13
— H15
3 |
0
1 2 3 4 5 6 7 8 9 10 11 12
12
8
\‘\ - l:l
-
1 6
4
2 /// \\\
/ , 0 (AW\ (W { | ! y}/11”4;\1TF\irL
H8 9 10 11 12 13 14 15
13
5 7

30

20

10

1880 1920 1960 2000

O = N W

1880 1920 1

K>

960 2000

14

76

x 1,000



1) 3 6

) 8 9

€)

@ 8

®)

15
8 9
15

° 15 6 15
°

°

5.

1)

14 2004 71 77
2)

2002 66(4) 239 246

77



